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(F()) +(9(x))” = xS £2(0) +¢2 (0) = 20 = £2(0) + g (0) =0 =

=f(0)=0 xa g(0)=0

Axoun
F2(x)+g%(x)=np’x
fz(X)sz(X)+g2 (x) = fZ(X)Snuzx:‘f(x)‘£|nux|:>
= — x| < £ (x) <[npx|
Emopévaog
—nux| < £(x) < nux

lim (—[nux]) = lim|nux| = 0

x—0 X—0

rapesonic (0)-0
= limf(x)=0 = |limf(x)=f(0)

Omote N T eivan cvveyng oto X, =0

Eniong
£2(x)+g%(x)=np’x

v (x) <f?(x)+g*(x) = g (X)Snuzxz‘g(x)‘£|nux|:>

= —[np| < g(x) <
Emopévmg

—nux| < g (x) < nux
lim (= [nyax]) = lim x| = 0

x—0

X—0

mopeuponic 6(0)=0
= limg(x)=0 = |limg(x)=g(0)

Omnote ko g eivan cvuveyng oto X, =0



